1.

(1+i)x?+ (1-i)x—6-2i 7} =3]7} ==

Al
=

T x o] gh& Fohd?

@® -3 @ -2 ® -1 @ 2 ® 3



® 3

0|

0 [0

@ 2

NeN Bia)






.
=
£

\/_7
\/__1

@)
@ 1
_— V2
(1 2
Jr
V2)i
@
® .
| _
1—f
2
)i
©)
(1
+
V2
p)
)i



AG7Eobd B g of ishe] g 7h Ao

(&, z # +i ©]2L 7 = z 9] A FEAFolt})

®zz=1 @ z+z=0
®z+z=1 @ z+z7=-1

® z+1)z+1)=1

171 9]



6. M Far,aas- - a, = 1,-1, V2i,— V2i oA shte] 2 7
oL ot ©7lay +ag+as+---+a, =0,af +a5+a3+---+a; =0
olgtal g uf, vk 5 n O Fhol 2 & Q= ALY

@® 300 @ 303 ® 305 @ 308 ® 310



7.

@

Wl N
@
N | =

= =11
Zot=

i

<=



V2

2n
i) o i 17t @ 4

1-



17)e)

o

f=)

o}

T

h s

o

% a, poll o
o o A Easoltt)

H

=
a

<&
)

)
IS

=
IS}
Il

S

B
Q.

[S]
I
Q

3

9.

@ 0,0 ® ©,©

® 6 e

® Q0
@® Q@




10.

ay, as, ~~-a10‘loj1Elf_“ —19»"%}”%;!’1(1102 """" 611021 OE;IUH’
N RV Vayo o] #ol & e 78 thE <B7|> oA BE
VEA? (HFi= V1)
(1]
H7]
@1 © -1 © i @ —i
ONQ) ORON® ® G 06

@ @,0,©® ® 0,06,6,e






12. A= {x+yi2+)2 =2 x y=

A
=
Z:i ii(%aig_/g)%}q
2a  2a ’ ,
ek, 015 F& o2
. . L
@© 2i @ -2 ® L

2
2=
1
4

}oleh.



